THSEEEBTHE DT IRHRERE

13T (138) @01 iE

®EIEB Bk =R v NO. 1 NO. 2 NO. 3 NO. 4

R5.11.27 R5.11.27 R5.11.27 R5.11.27
2PN Cd  |mg/keRZEfE <05 <0.5 <05 <0.5
LT EY CN |mg/kgiz =B <1 <1 <1 <
ikt Em O-P |mg/kefzE1E A 1S i A
£ Pb  |mg/keRZEfE 21 22 18 17
N liA=FN Cr6+ |mg/keFr 2B <1 < <1 <1
itk As  |mg/kgBrE (B 3.2 3.6 35 29
K ER T-Hg |mg/keBzE (B 0.05 0.06 0.03 0.04
FILEIILKERIEEY Al-Hg [mg/keB2 2B <0.01 <0.01 <0.01 <0.01
R)EIEETIZL PCB |mg/kgfzE1{E <0.01 <0.01 <0.01 <0.01
K H.0 |% 7.7 12.5 6.9 14.4

THMSEEXMRINECERNES - ERAMTIERERER

B R N E ®x®m RN EHE & J K B EHhtE

REIEHE e ==Rivd NO. 2 NO. 3 No. 4 No. 5 NO. 1 NO. 2

R5.11.27 R5.11.27 R5.11.27 R5.11.27 R5.11.27 R5.11.27
INSPIN Cd |mg/keBZE{E 0.2 0.3 0.3 0.2 0.4 0.3
STUEEY CN  [mg/ketsE1E <1 4 <1 <1 - —
HHEtEED 0-P |mg/kgBZE{E <A <1 <A 4 - -
£n Pb mg/kegBz = B 9 9 10 9 - -
NEYOL Cr6+ |mg/keBzE1{E <1 <1 <1 <1 - -
it As mg/kehz = {E 2.9 25 1.6 25 0.7 <0.5
K 4R T-Hg [mg/kef7 21 0.14 0.05 0.02 0.02 - -
ZILEILKEBILEY Al-Hg |mg/kelz = {E <0.01 <0.01 <0.01 <0.01 — —
HRYEIEEEDIIZIL PCB |meg/kefz= 1B <0.01 <0.01 <0.01 <0.01 - -
BEARS % 1.8 1.3 2.1 27 - —
JILRIAZHUBEYMESES mg/kgiz = (B <250 <250 <250 <250 - -
£ Cu |meg/keBrE{E 25 31 21 31 9 4
KH H.0 |% 20.9 18.4 19.0 19.1 35.1 31.0




